KALZA T T D HEFS R R D B REHY0.120pm L LD B £0) (Efz:8)
1 () Bt BIERB k4 | FRRS | Fk6 | FRRT | FRS | FRR9 | R0 | FR | FR12 | 13| FR14 | FRR15 | FRL16 | FR17 | FRr18
ABR A RKX FREIEHRE 42— 0 0 2 3 0 0 1 1 3 2 0 0 1 0 3
RBRHETERX LEX & AT 0 2 0 1 0 0 6 0 7 4 1 1 2 3 3
KRz IR R 0 1 5 1 0 0 2 2 1 2 1 2 0 2 2
KERmENR W) XA 0 1 3 1 0 0 0 1 1 1 2 2 0 3 2
REHEEFRX RS LI FR A 0 2 3 2 0 0 0 2 3 0 1 1 3 4 3
RBRHIEX RERER 1 4 5 4 5 3 4 2 6 6 7 3 5 3 9
RBRHEEREX EBNER 0 1 7 4 1 0 6 3 10 2 5 3 3 4 4
KEEmEFEZIRX BTN 0 0 4 0 0 0 3 1 3 1 0 2 4 4 3
RIEHFEEHFR EERER 1 4 5 4 2 1 4 3 9 4 5 2 4 5 4
RBR T FE KX S ERER 0 0 1 1 0 0 1 1 1 1 0 0 0 0 1
KERmfEX PRI 0 0 1 0 0 0 3 0 5 2 2 1 0 1 1
RERHFERX Sk E AL /NERR 1 2 5 5 3 2 2 1 4 2 2 0 1 4 11
KBR T REREX HIRPER 0 0 1 1 0 0 2 1 4 2 1 1 2 1 2
KEEmEZIRX Ea e N — — — — — — — 0 1 0 0 1 1 0 1
R DT 0 4 4 2 0 0 9 3 1 2 0 1 0 1 0
i =S EF 0 0 1 1 1 0 6 1 1 2 1 1 3 3 2
il =3 Az 0 0 3 0 0 0 0 2 4 1 0 2 1 1 1
BdbX o) 2 6 7 2 0 0 9 4 5 2 3 3 3 2 1
RHIRX =% 0 0 0 0 0 0 1 1 2 1 0 0 2 1 2
WX HE 4 8 7 2 4 1 7 7 16 10 6 7 7 6 10
RHREX BER 3 8 11 3 1 2 17 3 15 7 4 9 6 8 10
WX BLs 2 10 5 1 1 1 16 2 13 3 1 6 3 5 2
b iihaal ™3 EH 4 7 8 2 0 0 7 5 4 4 3 5 5 5 4
FHET FEHHEBEAR — — — — — 0 4 2 4 0 3 0 2 1 2
FHET FENER 3 3 2 0 1 — — — — — — — — — —
B 7 H 0 3 9 6 0 5 5 1 7 2 4 2 9 2 0
Lo FR 0 3 3 3 1 0 4 1 4 0 0 0 0 0 2
AMET METH I REESEE 0 0 4 1 0 0 1 2 5 0 1 0 1 0 1
WwHEm W A i EE K 0 0 8 3 0 0 0 0 8 2 7 2 2 2 6
W WAt ERE 1 3 11 11 5 1 16 6 16 3 9 2 6 6 11
WwHEm wHEIE 3 4 7 7 3 0 0 0 0 0 1 0 1 0 0
RKEM RREGFRER 0 0 0 0 1 0 1 2 1 1 0 0 — — —
RAEM RAEHEA 2 5 5 1 2 0 0 1 0 0 0 0 2 0 1
=T = 1 1 3 0 0 0 8 3 10 4 4 1 10 2 6
=Ysng =it 9 0 5 1 1 0 5 2 3 1 0 0 6 3 0
BiFEH BIENEBEE 2 3 2 0 1 1 7 3 0 1 1 0 2 0 4
SFO™ <7 O R 1 2 3 2 0 0 2 1 5 1 0 0 0 0 2
sFAT™H F—AER(&M) 0 2 3 2 0 0 0 0 3 0 1 0 0 0 0
ekl F_RER(KA) 0 1 4 1 0 0 2 0 3 0 1 0 0 0 0




KALZA T T D HEFS R R D B REHY0.120pm L LD B £0) (Efz:8)
1 () Bt BIER B k4 | FRRS | Fk6 | FRRT | FRS | FRR9 | R0 | FR | FR12 | 13| FR14 | FRR15 | FRL16 | FR17 | FRr18
SFOT™H %= =AEF (87) 1 3 13 0 1 0 1 0 3 0 0 0 0 0 0
L Vakit] ICES 1 1 0 0 2 0 5 0 3 1 0 1 3 1 0
AT WA &R 5 1 5 1 0 0 6 1 4 1 0 0 6 1 0
L Vakit] FI-AE 8 1 1 1 1 0 4 0 5 0 0 3 8 5 1
AT FB 5 2 5 1 0 0 5 2 5 0 0 0 4 0 0
RAH RAT&AT 1 0 3 4 0 0 0 0 0 0 0 0 1 1 0
J\ET I\NERER 0 0 4 1 0 0 8 1 3 0 1 1 0 0 3
RIEE™ RAEFRERT 0 0 — — — — — — — — — — — — —
RIEHTH RN — — 0 0 0 — — — — — — — — — —
RIEHTH L RIEE — — — — — 1 8 — — — — — — — —
RIEEHT B hER — — — — — — — 3 6 1 0 2 3 1 2
RIEHTH RAEEF &R 1 5 2 0 0 0 4 3 2 1 0 — — — —
E BT EBATH &R 5 8 13 4 5 4 5 3 12 12 6 15 10 9 14
BEIH BEINTHE&ER 3 1 7 3 1 0 4 3 7 2 1 3 2 2 8
BRJIm A H 4 1 2 1 3 1 1 6 9 4 4 5 6 1 6
FIREE™ —HmAREE 9 4 10 3 4 2 9 3 9 15 7 15 7 10 11
NG KEWRBE H— 1 2 3 2 0 1 0 0 1 0 0 0 1 0 —
WE™ RIFEER 0 0 0 0 0 0 0 0 0 0 0 1 0 1 2
REM REM&ER 3 1 1 2 1 0 5 0 5 3 0 0 2 3 4
fMRT B EINVERR 1 5 4 3 5 1 9 2 7 9 4 4 4 2 6
FRT FINER 3 3 — — — — — — — — — — — — —
FR™ AREHER 1 — — — — — — — — — — — — — —
HE™ I EfEFR 8 4 10 4 5 2 9 1 10 11 5 8 6 7 5
HET HET&R 0 1 0 2 0 0 4 0 1 0 0 0 0 0 3
FEM FEm&A 0 3 9 5 4 1 1 0 4 0 1 2 4 1 3
fMEM PAEMmE 1 2 9 3 1 1 5 2 4 1 0 0 7 1 5
=am = A RER 0 3 2 2 4 0 8 3 5 2 2 2 1 2 4
=am EATAEERE I— 0 2 4 0 1 1 3 1 2 1 0 0 0 0 —
=am = A EE SR IRFT — — — — — — — — — — — — — — 0
=AaT FRFE 4 1 6 1 2 0 3 4 3 3 — — — — —
=am 5 /NER 1 1 3 0 2 0 0 4 0 1 0 1 — — —
=AaT A NER 5 3 7 1 5 2 7 2 12 2 1 5 0 — —
BHFH BHFHER — — — 1 0 1 5 4 5 3 2 4 4 5 11
BHET ERFR/NMER 0 0 4 1 0 0 0 2 3 0 0 0 5 7 7
E N BERERMAEREE2— 1 0 2 0 0 2 11 2 4 1 0 0 1 0 2
E PN RABRTBETE 1 2 9 1 7 3 12 2 8 1 1 6 1 3 3
REm KBTI 0 0 1 1 1 1 5 1 1 2 0 0 1 0 1
RE™ RETEA 3 1 0 0 0 1 1 0 0 0 7 8 9 6 7
MR B 1 2 3 1 1 0 4 1 4 3 0 0 2 0 1




KALZA T T D HEFS R R D B REHY0.120pm L LD B £0) (Efz:8)
1 () Bt BIER B k4 | FRS | FRk6 | FR7 | FERS8 | FR9 | FRI10 | FERI1 | FRR12 | FRR13 | FR14 | FRRI5 | FR16 | FR1T7 | FR18
SZHT SXBT&5 7 1 4 1 4 0 9 3 2 2 1 1 2 1 3
HE R BT HEERET %15 0 6 6 5 1 1 3 0 0 0 1 0 1 0 4
U T W HT 152 35 0 0 1 1 0 1 4 1 0 0 0 0 0 1 0
W ET EZF 0 1 3 0 0 0 4 1 1 0 0 — — — —
LR T e 3 0 3 1 1 1 5 2 2 0 0 — — — —
[ 23l 3 0 5 0 0 3 3 1 0 0 0 — — — —
R R 0 0 0 0 0 0 0 0 — — — — — — —
FEMET REFRES— 0 0 0 0 0 0 — — — — — — — — —
FAET FHET&R 0 0 1 0 1 0 1 0 0 0 0 0 0 — —
B Erhh& 0 1 2 1 0 0 0 0 2 0 0 0 0 0 0
2 FEB 0 1 2 0 0 0 0 0 — — — — — — —
WEM WEILNERR 0 0 0 0 0 0 — — — — — — — — —
fMRT ERF/NER 0 0 1 0 0 0 — — — — — — — — —
EiEh EiEm&R 0 0 0 0 0 0 — — — — — — - — -
BHFH BHFHEM 0 0 1 — — — — — — — — — — — —
E PN RARTREGFERE L 4— 0 1 3 1 0 0 0 1 0 0 0 0 2 0 5






